
 

 

 

1. Add: 5 + 3 =  

2. Count and add the apples 

  +  =  

3. Tick the correct answer 

 6 + 4 = 

 10    9     11 

4. Add these numbers using dots 

 ●●● + ●●●● =  

5. What is the total number of balloons? 

 🎈🎈 + 🎈🎈🎈🎈🎈 =  

6. Fill in the blank: 

 7 + ___ = 10 

7. Color to circle with correct sum 

 2 + 6 = 

 ⭕ 8 ⭕ 9 ⭕ 7 

8. Add and write in number and word 

 4 + 5 =   = _______ 

9. How many birds in total? 

 🐦🐦🐦 + 🐦🐦 =  

10. Fill in the missing number 

   ___ + 3 = 8 

Addition 



 

 

 

11. Add the cupcakes 

    +   =   

12. Complete the equation 

   9 + 1 = ___ 

13. Count and solve 

   🍩🍩 + 🍩🍩🍩🍩 =   

14. What is 10 + 6? 

a) 15 b) 17 c) 16 

15. Fill in the blanks 

   3 + 7 = ___ 

16. Add the following 

   a) 8 + 2 → ___ 

   b) 5 + 5 → ___ 

   c) 4 + 3 → ___ 

17. Draw and add 

   Draw 3 stars + 4 stars 

   🌟🌟🌟 + 🌟🌟🌟🌟 =   

18. Solve the riddle 

   I have 5 pencils and my friend gives me 5 more. How many now? 

   ✎✎✎✎✎ + ✎✎✎✎✎=  

  



 

 

 

1. Add using strokes: 

 | | + | | |  =  

2. Count the total strokes: 

 | | | + | | | |  =  

3. How many total strokes? 

 | | + | | |   =  

4. Add the strokes: 

 | | | + | | | |   =  

5. Count and add the strokes: 

 | | | | + | |   =  

6. Solve: 

 | + | | | |   =  

7. Add these strokes: 

 | | | + | | | | |  =  

8. What is the total? 

 | | | | | + | |   =  

9. Solve and count: 

 | | + | | | | |   =  

10. How many strokes in total? 

   | | | | + | | |  =  

11. Count the strokes: 

   | | + | | | + | |  =  

Adding With Strokes 



 

 

12. Fill in the blank: 

   | | | | + | | = ___ 

13. Solve using strokes: 

   | | + | | + | | | =  

14. Add and write the sum: 

   | | | + | | | | | | =  

15. How many strokes in total? 

   | | | + | | | | | |  =  

16. Count and find the sum: 

   | | | | | | + | | =  

17. Add the strokes: 

   | | + | | | + | | | =  

18. Fill in the missing sum: 

   | | + | | | |   =  

19. Add these numbers: 

   | | | | + | | | =  

20. Solve using strokes: 

   | | | | | + | | | | | =  

21. Count the total strokes: 

   | | | | | + | | | |  =  

  



 

 

  

1. Add using the number line: 

 Start at 2, move 3 steps forward 

  2 + 3 = ___ 

2. Use the number line to solve: 

 Start at 4, move 5 steps forward 

  4 + 5 = ___ 

3. Add using the number line: 

 Start at 1, move 4 steps forward 

  1 + 4 = ___ 

4. Count on the number line: 

 Start at 7, move 2 steps forward 

  7 + 2 = ___ 

5. Add these using the number line: 

 Start at 3, move 6 steps forward 

  3 + 6 = ___ 

6. Use the number line to find: 

 Start at 5, move 4 steps forward 

  5 + 4 = ___ 

7. Add using the number line: 

 Start at 6, move 3 steps forward 

  6 + 3 = ___ 

8. Start at 9, move 7 steps forward on the number line 

  9 + 7 = ___ 

9. Count on the number line: 

 Start at 2, move 5 steps forward 

  2 + 5 = ___ 

Addition on the Number Line 



 

 

10. Use the number line: 

   Start at 8, move 6 steps forward 

   8 + 6 = ___ 

11. Add using the number line: 

   Start at 4, move 8 steps forward 

    4 + 8 = ___ 

12. Solve using the number line: 

   Start at 3, move 4 steps forward 

    3 + 4 = ___ 

13. Count forward on the number line: 

   Start at 7, move 5 steps forward 

    7 + 5 = ___ 

14. Use the number line to add: 

   Start at 6, move 2 steps forward 

   6 + 2 = ___ 

15. Add using the number line: 

   Start at 1, move 7 steps forward 

    1 + 7 = ___ 

16. Solve using the number line: 

   Start at 2, move 3 steps forward 

    2 + 3 = ___ 

17. Add using the number line: 

   Start at 5, move 6 steps forward 

    5 + 6 = ___ 

18. Count on the number line: 

   Start at 4, move 5 steps forward 

    4 + 5 = ___ 

19. Start at 8, move 4 steps forward 

    8 + 4 = ___ 

  



 

 

 

1. What is 0 + 5 =  

2. Add 0 to 8: 

 0 + 8 =  

3. What is 9 + 0 =  

4. Color to circle with Correct answer: 

  0 + 6 = 

 ⭕ 6 ⭕ 0 

5. How many total apples if you have 0 apples and add 4 apples? 

 0 +  =   

6. What is 0 + 0 =   

7. Fill in the blank: 

 0 + ___ = 6 

8. If there are 0 flowers and we add 7 more flowers, how many flowers do 

we have? 

 0 +   =   

9. Trick the correct option: 

 0 + 3 = 

 3   0 

10. What is 0 + 10 =  

11. You have 0 toys. If you get 5 toys, how many toys do you have? 

   0 +  =   

Properties of Zero 



 

 

12. What is the result of adding 0 to any number? 

     

13. If you have 0 candies and you buy 6 candies, how many candies do 

you have? 

 0 + 🍬🍬🍬🍬🍬🍬 =   

14. Add 0 to 4: 

   0 + 4 =  

15. Which number do you get if you add 0 to 12? 

    

16. What is 0 + 7 =  

17. Add 0 to 9: 

   0 + 9 =  

18. If you start with 0 stars and add 5 stars, how many stars do you have? 

   0 + ⭐⭐⭐⭐⭐ =   

19. What is the sum when you add 0 and 5? 

     

20. Fill in the blank: 

   ___ + 0 = 8 

21. If there are 0 dogs and we add 3 dogs, how many dogs do we have? 

   0 + 🐶🐶🐶 =    



 

 

 

1. What is 3 + 4? 

 3 + 4 =  

2. Add these numbers: 

  +  

 2 + 5 =   

3. Fill in the blank: 

 🍪🍪🍪🍪🍪🍪 + 🍪🍪 

 6 + 2 =  

4. What is 8 + 3? 

 🎈🎈🎈🎈🎈🎈🎈🎈 + 🎈🎈🎈  =  

5. Add these numbers: 

 🍩🍩🍩🍩 + 🍩🍩🍩🍩🍩🍩 

 4 + 6 =  

6. What is 7 + 5? 

 🎁🎁🎁🎁🎁🎁🎁 + 🎁🎁🎁🎁🎁 =  

7. Solve this: 

 🎨🎨🎨🎨🎨🎨🎨🎨🎨 + 🧸 

 9 + 1 =   

8. How much is 10 + 7? 

  🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬 + 🍬🍬🍬🍬🍬🍬🍬  =  

9. Add these numbers: 

 1 + 9 =  

Addition Facts 



 

 

10. Solve: 

 🍪🍪🍪🍪 + 🍪🍪🍪🍪 

 4 + 4 =  

11. What is 5 + 8? 

 🎈🎈🎈🎈🎈 + 🎈🎈🎈🎈🎈🎈🎈🎈  =  

12. Solve: 

    +  

   3 + 6 =  

13. How much is 7 + 3? 

   🐠🐠🐠🐠🐠🐠🐠 + 🐠🐠🐠  =  

14. Add the numbers: 

   🎨🎨 + 🎨🎨🎨 

   2 + 3 =  

15. What is 9 + 1? 

     +   =  

16. Add these numbers: 

     +  

   5 + 4 =  

17. Solve: 

   🎁🎁🎁🎁🎁🎁 + 🎁🎁🎁 

   6 + 3 =  

 



 

 

1. Sam has 3 apples. His friend gives him 4 more. How many apples does Sam 

have now? 

  +     = 

2. Mia has 5 candies. She eats 2. How many candies are left? 

   –       =  

3. There are 7 birds on a tree. 3 more birds come. How many birds are 

there now? 

  +  =  

4. You have 4 pencils. Your friend gives you 6 more. How many pencils do 

you have? 

  +     =  

5. Lily has 8 oranges. She gives 3 oranges to her friend. How many oranges 

does Lily have now? 

     –     =  

6. There are 8 chairs in the classroom. 3 more chairs are added. How many 

chairs are there now? 

  +  =  

7. Tom has 7 mangos. He buys 4 more. How many mangoes does Tom 

have now? 

     +  =  

 

Word Problems 



 

 

8. You have 9 stickers. You give 3 stickers to your friend. How many 

stickers are left? 

   –  =  

9. There are 4 cupcakes on the table. Your friend brings 6 more. How 

many cupcakes are there now? 

  +      =  

10. You have 7 candies. You eat 4 candies. How many candies are left? 

   –    =  

11. Ben has 3 toy cars. His brother gives him 5 more. How many toy cars 

does Ben have now? 

     +       =  

12. There are 6 apples in a basket. You add 4 more apples. How many 

apples are in the basket now? 

  +  =  

13. Sara has 8 books. She gives 2 books to her friend. How many books 

does she have now? 

  –   =  

14. You have 5 toy trucks. Your friend gives you 4 more toy trucks. How 

many toy trucks do you have now? 

   +     =  

15. There are 7 flowers in the garden. 3 more flowers bloom. How many 

flowers are there now? 

    +     =  



 

 

 

 

1. Subtract: 8 – 3 

  –  =  

2. You have 6 candies. You eat 2. How many candies are left? 

 🍬🍬🍬🍬🍬🍬 – 🍬🍬      =  

3. Subtract: 10 – 5 

 🎈🎈🎈🎈🎈🎈🎈🎈🎈🎈 – 🎈🎈🎈🎈🎈    =   

4. There are 7 apples in the basket. You give 3 apples away. How many apples 

are left? 

  –  = 

5. You have 8 mangoes. You lose 3 mangoes. How many marbles are left? 

   –    =  

6. Subtract: 12 – 4 

 🍩🍩🍩🍩🍩🍩🍩🍩🍩🍩🍩🍩 – 🍩🍩🍩🍩 =   

7. There are 5 toys in the box. You take away 2 toys. How many toys are left? 

   –        =  

8. You have 6 gifts. You give 3 to your friend. How many pencils are left 

   –        =  

9. You have 10 pencils. You give 5 to your friend. How many pencils are left? 

 ✏️✏️✏️✏️✏️✏️✏️✏️✏️✏️ – ✏️✏️✏️✏️  =  

10. There are 8 flowers in the vase. 3 flowers wilt. How many flowers are left? 

 🌸🌸🌸🌸🌸🌸🌸🌸 – 🌸🌸🌸     =  

11. Subtract: 15 – 5 

    – 

 =     

Subtraction 



 

 

 

12. You have 4 cupcakes. You eat 2. How many cupcakes are left? 

      –         =  

13. Subtract: 7 – 3 

   🐦🐦🐦🐦🐦🐦🐦 – 🐦🐦🐦     = 

14. There are 6 balloons. 3 balloons pop. How many balloons are left? 

   🎈🎈🎈🎈🎈🎈 – 🎈🎈🎈      = 

15. Subtract: 9 – 5 

   🍩🍩🍩🍩🍩🍩🍩🍩🍩 – 🍩🍩🍩🍩🍩  = 

16. You have 7 books. You give 2 books to your friend. How many books are 

left? 

   📚📚📚📚📚📚📚 – 📚📚      = 

17. Subtract: 13 – 4 

 🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬 – 🍬🍬🍬🍬 = 

18. You have 5 toy cars. You sell 3 toy cars. How many toy cars are left? 

   🚗🚗🚗🚗🚗 – 🚗🚗🚗     = 

19. There are 8 birds in the tree. 3 birds fly away. How many birds are left? 

   🐦🐦🐦🐦🐦🐦🐦🐦 – 🐦🐦🐦    = 

20. You have 6 candies. You eat 1 candy. How many candies are left? 

   🍬🍬🍬🍬🍬🍬 – 🍬      = 

21. There are 10 fish in the pond. 4 fish swim away. How many fish are left? 

   🐠🐠🐠🐠🐠🐠🐠🐠🐠🐠 – 🐠🐠🐠🐠  = 

  



 

 

 

1. Start at 10 and move 3 steps backward. What is the result? 

 10 – 3 =  

2. Use the number line: Start at 8, move 5 steps back. What is the result? 

 8 – 5 =  

3. Count backward on the number line: Start at 12, move 4 steps back. What is 

the answer? 

  12 – 4 =  

4. Start at 7 on the number line, move 2 steps back. What is the result? 

  7 – 2 =  

5. Use the number line: Start at 9, move 6 steps backward. What is the result? 

 9 – 6 =  

6. Subtract using the number line: Start at 6, move 3 steps back. What is the 

result? 

  6 – 3 =  

7. Start at 15, move 8 steps backward on the number line. What is the result? 

  15 – 8 =  

8. Use the number line: Start at 14, move 4 steps back. What is the result? 

  14 – 4 =  

9. Start at 10 and move 7 steps back. What number do you reach? 

  10 – 7 =  

10. Count back on the number line: Start at 11, move 3 steps back. What is the 

result? 

  11 – 3 =  

11. Start at 6, move 2 steps backward. What is the result? 

  6 – 2 =  

 

Subtraction on the Number Line 



 

 

12. Use the number line: Start at 13, move 5 steps backward. What number do 

you reach? 

  13 – 5 =  

13. Subtract on the number line: Start at 16, move 9 steps back. What is the 

result? 

  16 – 9 =  

14. Start at 9, move 4 steps back. What is the result? 

  9 – 4 =  

15. Start at 20, move 10 steps back. What number do you reach? 

  20 – 10 =  

16. Start at 18, move 6 steps back. What is the result? 

  18 – 6 =  

17. Use the number line: Start at 14, move 8 steps backward. What is the 

result? 

  14 – 8 =  

18. Start at 12, move 5 steps backward. What number do you reach? 

  12 – 5 =  

19. Count back on the number line: Start at 16, move 7 steps back. What is the 

result? 

  16 – 7 =  

20. Use the number line: Start at 11, move 5 steps backward. What is the 

result? 

  11 – 5 =  

21. Start at 13, move 3 steps back. What number do you reach? 

  13 – 3 =  

22. Subtract using the number line: Start at 17, move 6 steps back. What is the 

result? 

 17 – 6 =  

23. Start at 8, move 4 steps backward. What is the result? 

  8 – 4 =  

24. Start at 14, move 9 steps back on the number line. What is the result? 

  14 – 9 =   



 

 

 

1. Subtract: 7 – 3 

    –    = 

2. What is 10 – 4? 

 🎈🎈🎈🎈🎈🎈🎈🎈🎈🎈 – 🎈🎈🎈🎈   = 

3. Solve: 9 – 5 

 🍩🍩🍩🍩🍩🍩🍩🍩🍩 – 🍩🍩🍩🍩🍩  = 

4. Subtract: 8 – 2 

 🐦🐦🐦🐦🐦🐦🐦🐦 – 🐦🐦    = 

5. You have 6 apples. You give away 3. How many apples are left? 

   –      = 

6. What is 12 – 6? 

 🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬🍬 – 🍬🍬🍬🍬🍬 = 

7. Solve: 7 – 4 

 🍪🍪🍪🍪🍪🍪🍪 – 🍪🍪🍪🍪    = 

8. Subtract: 15 – 7 

 🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸 – 🧸🧸🧸🧸🧸🧸🧸 

  =  

9. You have 10 toy cars. You give away 5. How many cars are left? 

 🚗🚗🚗🚗🚗🚗🚗🚗🚗🚗 – 🚗🚗🚗🚗🚗 = 

10. What is 6 – 3? 

 🍩🍩🍩🍩🍩🍩 – 🍩🍩🍩    = 

Subtraction Facts 



 

 

11. Solve: 11 – 5 

 🍏🍏🍏🍏🍏🍏🍏🍏🍏🍏🍏 – 🍏🍏🍏🍏🍏 = 

12. Subtract: 14 – 6 

🌸🌸🌸🌸🌸🌸🌸🌸🌸🌸🌸🌸🌸🌸 – 🌸🌸🌸🌸🌸🌸 

=  

13. What is 7 – 2? 

 🍎🍎🍎🍎🍎🍎🍎 – 🍎🍎      = 

14. You have 13 chocolates. You eat 4. How many chocolates are left? 

 🍫🍫🍫🍫🍫🍫🍫🍫🍫🍫🍫🍫🍫 – 🍫🍫🍫🍫    = 

15. What is 9 – 3? 

 🎈🎈🎈🎈🎈🎈🎈🎈🎈 – 🎈🎈🎈    = 

16. Solve: 10 – 5 

 🍪🍪🍪🍪🍪🍪🍪🍪🍪🍪 – 🍪🍪🍪🍪🍪  = 

17. Subtract: 5 – 2 

 🧁🧁🧁🧁🧁 – 🧁🧁      = 

18. What is 13 – 4? 

 🐠🐠🐠🐠🐠🐠🐠🐠🐠🐠🐠🐠🐠 – 🐠🐠🐠🐠 = 

19. You have 14 flowers. 6 flowers are picked. How many flowers are left? 

 🌷🌷🌷🌷🌷🌷🌷🌷🌷🌷🌷🌷🌷🌷 – 🌷🌷🌷🌷🌷🌷= 

20. What is 12 – 8? 

 🎁🎁🎁🎁🎁🎁🎁🎁🎁🎁🎁🎁 – 🎁🎁🎁🎁🎁🎁🎁🎁= 

21. Subtract: 10 – 6 

 🧸🧸🧸🧸🧸🧸🧸🧸🧸🧸 – 🧸🧸🧸🧸🧸🧸  = 


